Problem b

M:c‘na_ direct tenszor ﬂo‘l‘qhbn (1'.3) withouwut V‘esor'h'wg
to component forms) prove that f

u,r, w € V; g «£, 8 R

a) (4 y BU) = L8 (v w)
bY (@ (r+w)) = (&) + (¢ w)
Hint Take each expression anod operate on a vector

@ e Vy and proceed accoro{fng_fg, This s often
a useful si’ra,i'egét.

Problemn E

Usin Airect tensor notation rove.
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u p-By = uu- A (BY)
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" Problewm F

B tensor T +ransforms e.vew; veetor into s mivvor
. .
image with respect fto t+he plane whose normal (s

el
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n = N e ¥ g;)
(a) Frad t+he components of I w. r,+ the basrs { e K}‘
(b)Y Use +his tensor +o §fraod +the mirvor l'mage of

a = € + 2 €




